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1R 8 5 1 1 1 0 0 895 27 1 25,369 9 6 0 3
2H 12 9 1 1 0 0 1 1,619 137 3 95,076 19 14 4 4
3A 18 11 0 1 0 0 6 469 33 0 23,065 18 12 0 3
4KF 17 5 1 1 0 0 10 329 5 0 24,785 9 4 0 0
5H 16 2 0 3 0 0 11 0 10 0 820 3 1 0 1
6AH 26 13 3 1 0 0 9 860 215 143 129,479 16 10 2 2
7R 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
8H 24 11 0 0 0 0 13 5 16 0 300 11 4 0 3
9H 0
10A8 0
11A8 0
12RH 0
&5t 121 56 6 8 1 0 50 4177 443 147 298,894 85 51 6 16
HIE BEA D IR R 141 69 4 12 0 0 56 5,823 957 39 174,188 111 44 7 15
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1A 12 10 0 0 0 0 2 763 20 0 21,630 17 5 1 2
2R 13 11 0 0 0 0 2 324 140 0 5,681 17 9 1 1
3A 19 12 0 4 0 0 3 1,116 725 0 41,506 23 5 0 6
4K 21 12 0 0 0 0 9 1,149 16 0 39,192 15 8 1 1
5H 44 12 3 4 0 0 25 1,329 32 38 36,636 17 6 2 2
6 A 18 5 1 3 0 0 9 944 15 1 26,647 14 5 1 1
7R 14 7 0 1 0 0 6 198 9 0 2,896 8 6 1 2
8H 30 11 2 4 0 0 13 395 14 1 12,516 11 5 0 3
9H 9 5 0 0 1 0 3 100 12 0 3,890 5 0 0 0
10AH 9 7 0 1 0 0 1 87 75 0 4863 12 6 0 2
11AH 16 13 0 1 0 0 2 3,648 33 0 461,992 21 10 0 6
12HAH 14 10 0 1 1 0 2 1,494 45 35,283 16 10 3 1
=511 219 115 6 19 2 0 117 11,547 1,136 40 692,732 176 75 10 27
AIERIEDIK R 223 100 9 17 0 0 97 8,436 159 265 284,266 158 74 6 38
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1H 14 9 0 3 0 0 2 526 19 0 14,386 13 5 0 7
2R 14 7 0 0 0 0 7 305 16 0 15,792 12 8 0 5
3H 37 14 4 4 0 0 15 583 8 225 21,367 17 11 3 5
48 27 9 2 0 0 0 16 1,667 30 5 41,672 18 10 1 3
58 14 11 1 0 0 0 2 324 11 25 20,901 12 5 1 2
6R 9 7 0 0 0 0 2 179 1 0 483 11 1 0 0
7H 19 12 1 2 0 0 4 1,549 17 1 61,076 20 9 0 5
8H 48 7 1 1 0 0 39 595 30 8 10,783 14 7 1 4
9R 8 5 0 2 0 0 1 1,064 0 0 23,458 6 2 0 2
108 11 7 0 3 0 0 379 3 1 4,548 12 3 0 0
118 11 6 0 0 0 0 5 260 5 0 5,238 9 3 0 5
128 11 6 0 2 0 0 3 1,005 19 0 64,562 14 10 0 0
a&t 223 100 9 17 0 0 97 8,436 159 265 284,266 158 74 6 38
HIE BEA D IR R 182 87 6 19 1 0 69 5473 525 89 308,512 129 72 10 26
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1H 15 10 0 2 0 0 3 454 12 0 17,607 12 9 3 4
2R 7 5 0 1 0 0 1 662 34 0 53,809 7 3 1 5
3H 14 7 1 2 0 0 4 557 2 75 11,425 11 3 0 3
4F 23 8 2 0 0 0 13 657 100 6 26,558 10 7 0 0
5R 24 10 2 0 0 0 12 445 13 2 15,859 16 8 2 0
68 18 5 0 3 1 0 9 297 4 0 13,882 7 6 0 1
7H 14 6 0 4 0 0 4 507 52 0 66,174 10 8 0 2
8H 21 8 1 2 0 0 10 242 2 6 20,649 10 5 1 3
9R 10 3 0 0 0 0 7 1 177 0 240 3 2 0 4
108 8 4 0 1 0 0 3 92 18 0 1,693 8 2 0 0
118 13 10 0 3 0 0 0 613 52 0 10,171 18 9 2 4
128 15 11 0 1 0 0 3 946 59 0 70,445 17 10 1 0
a5 182 87 6 19 1 0 69 5473 525 89 308,512 129 72 10 26
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1H 17 10 0 2 0 0 5 1,725 17 0 41,033 20 12 0 2
28 21 17 0 1 0 0 3 1,552 187 0 53,916 30 23 3 5
3A 22 10 0 1 0 0 11 1,061 80 0 29,877 19 8 3 3
4H 25 13 2 5 0 0 5 661 422 11 20,202 21 8 0 8
54 30 7 3 4 0 0 16 340 94 11 41,167 12 7 2 1
6 A 18 13 2 1 0 0 2 1,307 16 6 46,623 14 8 0 5
7R 11 3 0 0 0 0 8 0 1 0 23 4 1 0 1
8 A 21 5 2 2 0 0 12 5 3 10 1,084 5 2 0 2
94 13 12 0 0 0 0 1 669 60 0 42,372 15 2 0 1
10H 18 14 0 1 0 0 3 240 126 0 12,104 17 6 1 3
114 15 10 0 0 0 0 9] 662 40 0 34,658 21 11 3 6
12H 8 6 0 1 0 0 1 938 10 0 29,046 10 13 0 4
=k 219 120 9 18 0 0 72 9,160 1,056 38 352,105 188 101 12 41
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1H 16 12 0 2 0 0 2 1,050 8 0 25,831 16 14 0 4
2A 12 5 0 2 0 0 5 275 13 0 3,936 7 5 0 1
3H 30 12 3 2 2 0 11 2,298 7 37 137,233 25 17 0 8
44 19 12 0 1 0 0 6 2,133 12 0 64,935 25 8 2 7
5AH 29 8 3 1 0 0 17 398 81 18 44,437 12 6 0 1
6A 13 9 0 2 0 0 2 978 74 0 23,498 24 13 3 3
78 14 10 0 1 0 0 3 253 1 0 12,410 11 4 0 1
8H 12 7 0 0 0 0 5 427 9 0 81,288 7 2 0 0
9A 19 9 0 1 0 0 9 271 46 0 8,482 11 5 0 2
10H 17 8 1 2 0 0 6 41 8 2,411 7 6 0 1
114 13 9 1 0 0 0 3 145 7 1 7,884 9 6 2 2
124 9 7 0 1 0 0 1 136 0 5,160 7 3 0 1
=K 203 108 8 15 2 0 70 8,405 263 64 417,505 161 89 7 31




